
                 YARD MARVEL MFG. CO., INC.     Effective
                         5509 N. MARKET ST.,   SPOKANE, WA 99208-2305   1-1-2012
                  (509) 487-2428    FAX (509) 483-2044    (80 0) 547-9273 (YARD)     
                                                  email: info@yardmarvel.com      www.yardmarvel.com

                                                           PARTS  LIST Page 1
                    FARM & GARDEN  MINI TILLERS

When ordering parts, please include:
1.  Serial number of Tiller, if available.  See backside of decal handlebar plate.
2.  Horsepower and make, indicated on motor. (Example-3.5 H.P. Briggs & Stratton)
3.  We don't stock motor parts. Please order those from nearest motor service center.
4.  All parts when quoted left-hand or right-hand are determined when operator is looking forward   
    when standing behind the handlebars.

PART ITEM DESCRIPTION QUANTITY
NUMBER PER TILLER

REAR HITCH
MT-1-1967 MT Rear Hitch Assy, 1994 & After (incl. 70-1Foot Lever Lockout Arm) 1…………
MT-1967 MT Rear Hitch Assy, Screw Type…………………….…………. 1…………
36-J Rear Hitch Spring - Cam only…………………………………… 1…………
116-J Small Rear Hitch Spring - Detent………………………………. 1…………
70-2 Rear Hitch Position Control Arm……………………………….. 1…………

MOTOR MOUNTS
MT-512 Lefthand Motor Mount……………………………………...…….. 1…………
MT-513 Righthand Motor Mount……………………...…………………… 1…………
13 Bolt 5/16" x 2-1/4" NC, (mts to CC/R.Hitch Assy)…………………… 3…………
13-A Bolt 5/16" x 3/4" NC, (mts lower HB assy to Motor Mounts)……..                  4…………

CHAINCASE
MT1010-CPP MT Chaincase Assy - w/Case Protector Plates (21 pounds)……1…………
1076 Chaincase Protector Plates-Incl. Mounting Bolts....………... 1 pr……..
10-A LH Case Half (includes 10-L-2 Bushing & 10-J Bearing).…… 1…………
10-B RH Case Half (includes 10-L-2 Bushing & 10-J Bearing)……. 1…………
10-C 5/16" x 1/2" Round Head Mach. Screw - Oil Fill (Side).......... 1…………
10-C-A 3/8" x 1/2" Round Head Mach. Screw - Oil Fill (Top)............. 1…………
10-C-O 0-Ring Gasket for  Side (Fill 5/16") & Top Fill (3/8").….......... 2………...
1010-D 5/8" Drive Shaft Assembly-includes: 5/8" Drive Shaft-1010-D-A, 1.............

11-Tooth Sprocket -RC35-1010-D-B, & Double Roll Pin 1/8" x 1-1/8
 (inside) & 7/32"x 1-1/8" (outside) - 10-D-C

1010-E Idler Sprocket Assy - Incl. 48T-RC35 Sprocket & 9T-RC52……… 1…………
 Sprocket-welded to hub

10-F Idler Bearing - Torrington B-912...........………...................... 2………....
10-G Idler Bearing Race.....................................…....................... 1…………
1010-H Rotor Shaft Assy for 52P Chain-18-Tooth Sprocket..….......... 1……...…
60 Rotor Pins, Driv-Lok Solid Type........….…............................ 2………....
10-J Rotor Shaft Bearing - BH-1616 Torrington Needle...….......... 2………....
10-K-L Rotor Shaft Seal - Leather Spring-Loaded.....…................... 2………....
10-K-N Rotor Shaft Seal - Neoprene Spring-Loaded....................... 2………....
10-L-2 Bronze Bushing - Drive Shaft - 2" long .........………………... 2………....
10-M Drive Shaft Seal (for top shaft).............…............................. 1…………
10-N Case Gasket.......................…............................................... 1…………
10-O Small Chain (RC35) 56 pitch...........…................................... 1…………
1010-P Large Chain (RC 52) 35 pitch........…………………….............. 1…………
10-Q Bolt 5/16" x 2-1/4" NC GR 8 (Idler Spkt bolt with CPP's)…….  1…………
10-S 2-Way Lock Nut 5/16" NC.............…...................................... 1…………
10-T Plug - Upper Drive Shaft.............…...................................... 1.............
10-U 1/4" x 1" Hx Hd NC Bolt............…........................................ 2.............



            YARD MARVEL MFG. CO., INC. Effective

                               PARTS  LIST 1-1-2012
                          F&G MINI TILLERS Page 2

PART ITEM DESCRIPTION QUANTITY
NUMBER PER TILLER

CHAINCASE Cont.
10-V 1/4" x 1/2" Hx Hd NC Bolt.................................................... 13...........
10-W 1/4" Lock Nut, 2 way NC…………………………………………. 9.............
10-X 1/4" x 3/4" Skt Hd Cap Screw NC………………………………. 7…………
10-Y 1/4" x 1" Skt Hd Cap Screw NC…………………………………. 1…………
10-Z 1/4 - 20 Nut, Serrated Flanged Zinc & Flat Washer………….. 14………..
MT-11-S Case Spacer, Welded Reinforcement Assembly

 for Mini-Tiller  (1-LH,1-RH)……………………………………….. 1 set…….

MOTORS
12 3 H.P. Honda Model GX100QA2.….………….........................

3.5 H.P. Briggs & Stratton - Model 091202-1016...……….......

12-16 Engine Tach/Hour Meter, Optional…………...………………… 1..opt......
12-17-B Hose, Oil Drain extension, Optional (for B&S engine 1/4" NPT).. 1..opt……
12-17-H Hose, Oil Drain extension, Optional (for Honda engine 10mm).. 1..opt……
13-A Motor Bolts 5/16" x 3/4" NC, Zinc (for Honda engine)………… 2.............
54-Z Motor Bolts 5/16" x 1" NC, Zinc (for Honda engine)….……...… 2……...…
13-B Motor Bolts 5/16" x 1-3/4" NC, Zinc (for B&S engine)…....…… 2.............
13-C Motor Bolts 5/16" x 2" NC, Zinc (for B&S engine)……...………. 2.............
15 Nut 5/16" & Lock Washer NC, Zinc...................................... 4.............
16 Lift Handle, Tiller front, with 5/16" x 3" NC Bolt, new in 2004… 1……...…
MT-17 MT Motor Pulley (2x3/4), for B&S engines………….……...……. 1……...…
MT-17-H MT Motor Pulley (2x5/8), for Honda engines………………....…. 1……...…
18 Shaft Key 3/16" x 7/8" Long-for single pulley..…................. 1.............
19 Case Pulley 6".................…................................................. 1 ……......
MT-20 Drive Belt (Mini Tiller) 28"-A #2280..……………………........... 1........…..

IDLER CLUTCH
MT-21-74 Idler Clutch Assy-Complete-Single Pulley

(Includes 21-A-74, 21-N-74, 21-C, 21-D).....….......................... 1.............
MT-21-A-74 Idler Belt Bracket - mounts to motor...........…...................... 1.............
    MT-21-A1 Bolt, 8mm x 1.25cm-12 w/Spacer (mts idler belt brkt to Honda) 2…………
    MT-21-A2 Bolt,1/4" X 1-3/4"  w/Spacer (mts idler belt bracket to Briggs…. 2………….
MT-21-N-74 Clutch Idler Arm Assy. only......................…......................... 1.............
21-C 2" Idler Bearing Pulley only (Fits All, 3/4"width)...................... 1 ……......
21-D 3/8" x 1-1/2" Bolt, Nylon Lock Nut (Single Pulley).......…..... 1 …...…..
MT-23-A MT Clutch Handle……………………………….…………………. 1………...
23-B Long Roll Pin - 1/4" x 1-5/8", Zinc………………………….….. 1………...
MT-25-80 MT Clutch Cable Assy w/Spr&TB …………………………….… 1……...…
MT-25-80a MT Clutch Cable Assy w/TB  28-1/8"…………………….……… 1……...…
MT-25-80b MT Clutch Spring 8-1/4"…………………………………………… 1……...…
25-80-G Swing Arm Guide for clutch cable…………………….……….. 1…….…..

HANDLEBARS
MT-22 MT Lower Handlebar Assembly………….…..…...……………. 1……...…
MT-28 MT Upper Handlebar Assembly………………..…….…………. 1……...…
MT-24 Eyebolt, #8 x 32 (threads) x 1-5/8"……………….……………… 1……...…
MT-704-B Bolt, 1/4" x 1-1/2" with Nylon Lock Nut……………………….. 2……...…
MT-7097-E Collar, Handlebar Locking Ring………………………………… 2……...…
MT-34 MT Handle Grips, Plastic (3/4")………………...….……………. 2……...…
MT-31 Decal "Mini Tiller" (YM-06)………...………………...………….. 1……...…
MT-LOGO Decal "YM LOGO" oval (YM-LOGO)………………………………. 1…………
35 Decal only - "Caution" (YM-3)…............................................ 1.............
35 SAF Safety Decals [5 pc. Set] (YM-16x2, 17, 18, 20).…...............….… 1.............



            YARD MARVEL MFG. CO., INC. Effective

                                       PARTS  LIST 1-1-2012
                           F&G MINI TILLERS Page 3

PART ITEM DESCRIPTION QUANTITY
NUMBER PER TILLER

WHEEL STANDARD, WHEELS, HOLDBACK or DRAG BAR
MT-35 MT Wheel Standard…………………………….…………………. 1……..….
MT-521 Wing Bolt & Handle for Wheel Std………………………….….. 1………...
MT-39 MT Hold Back Bar……………………………..…………………… 1……...…
MT-766 Wheel, 8 x 1.75"…………………………………...……………….. 2……...…
MT-766-B Bearing only,(replacement for 8 x 1.75 wheel)…………………. 4…………
79 Lock Nut 1/2" Cone NC Thread (nylon insert)………………… 2…………

for axles with threaded ends

Note: Determine tine as left or righthand from the handlebar position in their basic "points-forward" position.  A LH Tine points 
down and to the left; a RH Tine points down and to the right. There are 8 Lefthand and 8 Righthand Tines on each set.

MINI TILLER TINES with Divisible Hubs
MT-1102 Mini Tines & Hub Set, Width 11-1/2" or 22-1/2"………………. 1 set…….
MT-43 Rotor LH Basic (Inside) 11-1/2", Hub & Tines……………….... 1…...……
MT-44 Rotor RH Basic (Inside) 11-1/2", Hub & Tines……………….... 1……...…
MT-45 Rotor LH Extension (Outside) 11-1/2", Hub & Tines……….... 1……...…
MT-46 Rotor RH Extension (Outside) 11-1/2", Hub & Tines……...…. 1……...…
MT-49 Basic Hub Only, Less Tines…………………………..………….. 2……...…
MT-50 Extension Hub Only, Less Tines………………………………… 2……...…
MT-52/53-SET Mini Tiller Tine only (Set)……………………………………….. 1 set of 16
MT-52 Mini Tiller Lefthand Tine Only…………………….……………. 8……...…
MT-53 Mini Tiller Righthand Tine Only…………………….………….. 8…...……
54 Tine Bolts, 5/16" x 1" NC…………………………………………. 16……….

HOOD, GUARD, ATTACHMENTS
MT-96-74 MT Belt Guard………………………………………………..…….. 1……...…
10-V-Z 1/4 x 1/2 HxHd Bolt, NC,Zinc, LW, Nut 3-pc.set………………. 3 sets……
99 Bolt, Lock Washer, Nut (Hood & Guard) 1/4" x 3/4" 3-pc.set….. 2 sets……
MT-98 Skt.Hd.CapScrew 1/4"x1-1/4"Gr8,LW,Nut 3-pc. Set(Hood Ears thru CC) 1 set…….
MT-95 MT Tine Hood…………..……………...…………………………… 1…………
MT-95a Mini Tiller Hood Brace………….…………………...……………. 1……...…
10-U Bolt, 1/4" x 1" Hx Hd NC…………………………………………... 2…………
1108 Edger Attachment, Straight-Cut, w/Balance Wheel……...… 1…………
1108-A Balance Wheel & Hub for Edger Attachment....…................ 1.............
1108-B Straight-Cut Edger Attachment Only……..……………………. 1…………
1109 Edger Attachment, Wedge-Cut, w/Balance Wheel…………. 1………...
1109-C Wedge-Cut Edger Attachment 0nly………..…………………… 1…………

***************************************************************************************************************************
**     MINIMUM ORDER $15.00 NET.
**    PRICES SUBJECT TO CHANGE WITHOUT NOTICE AND WILL BE THOSE IN EFFECT AT TIME OF 
      SHIPMENT. ALL PRICES QUOTED F.O.B. SPOKANE, WASHINGTON - U.S.A.
**    MASTERCARD & VISA CHARGES AVAILABLE.
**    APPROVED OPEN ACCOUNTS - NET 30 DAYS.
**    NEW ACCOUNTS SUBJECT TO CREDIT APPROVAL OR ORDER WILL BE SENT PROMPTLY UPON 
      RECEIPT OF ADVANCE CHECK, MONEY ORDER, OR BE SHIPPED C.O.D.
**    1-1/2% per month interest charged on past due accounts.
**   15% re-stocking charge on all items returned to the factory for credit.
***************************************************************************************************************************


